TRINGHEERIERR (spazEd)

B4 . 4 Sv/h
52 18 7 mEE | PR 5 Ocm m e
AREE 8A1H 0.07 0.07 0.07
RREE 8A1H 0.08 0.08 0. 07
AREE 8H1H 0.08 0.08 0.07
SAoREE 8H2H 0.08 0.08 0.07
TREE 8A1H 0.08 0.08 0.07
FEREE 8A1H 0.10 0.09 0.09
AREEE 8H2H 0.09 0.08 0.08
AREABEEASE| 8A2H 0.08 0.08 0.08
THNEREER 8H1H 0.07 0.07 0.07
HHIREE 8A1H 0.08 0.08 0.08
SHREER 8H1H 0.10 0.09 0.09
INFRSHE 8A1H 0.08 0. 07 0. 07
DL LY#E 8H1H 0.08 0.08 0. 07
DI Y St E 8A1H 0.10 0.08 0.08
INF B INERR 8H1H 0.11 0.10 0.09
RINTFBINER 8A1H 0.09 0.08 0.08
B RN 8H2H 0.08 0.07 0.08
TAINER 8H2H 0.10 0.09 0.09
FH/PNFER 8H1H 0.10 0.09 0.09
FR/INER 8A1H 0.08 0.08 0.08
JIFINER 8H2H 0.10 0.09 0.09
RIL/NER 8A1H 0.09 0.08 0.08
BIRINER 8H2H 0.12 0.12 0.12
B ANER 8H2H 0.09 0.09 0.09
A B/INER 8A1H 0.08 0.08 0.08
INF A R 8H1H 0.10 0.09 0.09
R/INTFAPER 8A1H 0.10 0.09 0.10
FHPER 8H1H 0.08 0.08 0.08
[Fa ==t N 8H2H 0.10 0.10 0.10
A BEERE 8HA1H 0.07 0.07 0.07
(BE)
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